

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form 990-PF

Department of the Treasury

Return of Private Foundation

or Section 4947(a)(1) Nonexempt Charitable Trust Treated as a Private Foundation

Note. The foundation may be able to use a conv of this return to satisfy state reporting requirements

2010

OMB No 1545-0052

		The second secon		to able to ase a copy of this	<u>_</u>		
For	cale	ndar year 2010, or tax year beginning	<u>oc:</u>	r 1, 2010	, and ending	SEP 30, 2011	
G (hec	k all that apply: Initial return		Initial return of a f	former public charity	Fınal returi	1
		Amended return		Address char	nge 🔲	Name change	
Nar	ne o	f foundation				A Employer identification	n numher
						- Employor Idonamoduoi	i ilaniboi
		CLIFTON AND CLARA	TAT Z\ T	אס דיי איי איי איי	7	58-1917676	•
Nun	nber :	and street (or P O box number if mail is not delivered t			Room/suite		·
					Room/suite	B Telephone number	
		7 NORTH LYNNCREST	DR.	LVE		(423) 756-	3000
City	or t	own, state, and ZIP code				C If exemption application is p	
L				L1-1820		D 1. Foreign organization:	
H C	hecl	k type of organization: 💹 Section 501(c)(3) e	xempt private foundation		Foreign organizations me check here and attach co	eeting the 85% test,
	Se	ection 4947(a)(1) nonexempt charitable trust		Other taxable private found	ation		
l Fa	ır m	arket value of all assets at end of year J Ac	coun	ting method: X Cash	Accrual	E If private foundation sta under section 507(b)(1)	NA) check here
		Part II, col. (c), line 16)		Other (specify)			
•		1,584,326. (Part I			basis)	F If the foundation is in a	
	irt i				1	under section 507(b)(1)	1
		(The total of amounts in columns (b), (c), and (d) may	/ not	(a) Revenue and expenses per books	(b) Net investment income	(c) Adjusted net income	(d) Disbursements for charitable purposes
_		necessarily equal the amounts in column (a)		evhouses her pooks	*		(cash basis only)
	1	Contributions, gifts, grants, etc., received		- Pri	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	N/A	William Control
	2	Check X If the foundation is not required to attach Sc	h B	35 part 3		5	建筑器"、"2. 你、
	3	Interest on savings and temporary cash investments					
	4	Dividends and interest from securities		38,305.	38,305.		STATEMENT 1
	5a	Gross rents					
	h	Net rental income or (loss)	•	# **(4) 30°	274 1 11 11 19 19 18 18 18 18 18 18 18 18 18 18 18 18 18	20 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	155 Par 18 18 18 18 18 18 18 18 18 18 18 18 18
		` '		38,821.	14 (16) A	440 15 17 18 18 18 18 18 18 18 18 18 18 18 18 18	274. 1948;4, 68,7 ° ° ° ° ° ° ° ° ° ° ° ° ° ° ° ° ° ° °
Revenue	Va L	Net gain or (loss) from sale of assets not on line 10 Gross sales price for all assets on line 6a 261,98	-	30,021.			- Manager (1977)
/en	7		<u>/•</u>	7.5 (2.5 (2.5 (2.5 (2.5 (2.5 (2.5 (2.5 (2		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	7 ME - WEST CONTROL - 17 17
æ	7	Capital gain net income (from Part IV, line 2)	-		38,821.	1,3 C W 1 C S	30 A 30 To
	8	Net short-term capital gain			" 40° 40° 40° 40° 40° 40° 40° 40° 40° 40°		
	9	Income modifications ECEIVED Gross sales less returns	-				
	10a	and allowances	علم	Carlot Contract			- 4 3 May 18
	b	Less Cost of goods sold	S	· 学· 进业公公数	以为自然激烈。这是"	第二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十	with his new Born
	C	Gross profit of (loss) UV 14 ZUII	위		Control of the second		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	11		88	33.	33.		STATEMENT 2
	12	Total. Add lines I through 11 A ! ! ! T	~	77,159.	77,159.		
\dashv	13	Compensation of officers, directors, trustees, etc	⇉	0.	0.		
				U .	· ·		, 0
	14	Other employee salaries and wages					
ဖွ		Pension plans, employee benefits					<u>-</u>
Ses		-	3	8,750.	0.		8,750
Expen		Accounting fees					
ŭ	C	Other professional fees STMT	4	17,100.	17,100.		0
<u>8</u>	17	Interest					
Administrative	18	Taxes STMT	5	304.	125.		0
St	19	Depreciation and depletion	_	304.	123.		
اَچَ.		•	•				\$ 2 1 8 2 18 18 18 2 2 2 2 2 2 2 2 2 2 2
텕	20	Occupancy					
	21	Travel, conferences, and meetings		950.	0.		950
ä	22	Printing and publications					
E	23	· · · · · · · · · · · · · · · · · · ·	5	20.	0.		20
哥	24	Total operating and administrative					
perating and		expenses. Add lines 13 through 23		27,124.	17,225.		9,720
\sim 1	25	Contributions, gifts, grants paid					75,000
		Total expenses and disbursements.		73,000		****	13,000
-	ŁU			100 104	18 005		
		Add lines 24 and 25		102,124.	<u> 17,225.</u>		84,720
- 1	27	Subtract line 26 from line 12:				· * * * * * * * * * * * * * * * * * * *	
	a	Excess of revenue over expenses and disbursements		-24,965.	٠	1.0	文化的方: 首相於
- 1	b	Net investment income (if negative, enter -0-)		\$ 10 m	59,934.		等。() (
22350	C	Adjusted net income (if negative, enter -0-)			2 2 3	N/A	
2250	4					/	1 1000 100 100 100 10 A

For	rm 99	0-PF (2010) CLIFTON AND CLARA WARD		58-	1917676 Page 2
þ	árt	Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only	Beginning of year		of year
드	art	column should be for end-of-year amounts only	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash - non-interest-bearing	338.	248.	248.
	2	Savings and temporary cash investments	47,433.	30,511.	30,511.
	3	Accounts receivable -	St. real Buckey Line & Care	Later of the second	1 1 Sept 1 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1
		Less; allowance for doubtful accounts	1		ł
	4	Pledges receivable -		E. Sandaria	384
	ŀ	Less: allowance for doubtful accounts			
	1 -	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other			
		disqualified persons			
	7	Other notes and loans receivable		La week a Cara	Carrie Sant Cy :
	İ	Less: allowance for doubtful accounts			
ets	1 -	Inventories for sale or use			
Assets	,	Prepaid expenses and deferred charges		· · · · · · · · · · · · · · · · · · ·	
٩	1	Investments - U.S. and state government obligations			
	l .	Investments - corporate stock STMT 7	767,741.	758,511.	820,190.
		Investments - corporate bonds			
	11	Investments - land, buildings, and equipment basis		1 miles & 10 miles 2 miles	
		Less accomplated depreciation			
	1	Investments - mortgage loans			
		Investments - other STMT ₂ 8	740,777.	742,054.	733,377.
	14	Land, buildings, and equipment basis		and as a	
		Less accumulated depreciation			
	15	Other assets (describe		·	
			4	4 -04 004	4 704 006
_	-	Total assets (to be completed by all filers)	1,556,289.	1,531,324.	1,584,326.
	17	Accounts payable and accrued expenses	· · · · · · · · · · · · · · · · · · ·		
	18	Grants payable			
Liabilities	19	Deferred revenue			300
Ē	20	Loans from officers, directors, trustees, and other disqualified persons			
Lia	21	Mortgages and other notes payable			
	22	Other liabilities (describe >)			
	22	Total liabilities (add lines 17 through 22)	0.	0.	
_	20	Foundations that follow SFAS 117, check here	<u> </u>	<u> </u>	
		and complete lines 24 through 26 and lines 30 and 31.		1	
es	24	Unrestricted	1,556,289.	1,531,324.	
anc	25	Temporarily restricted	1,330,203.	1,331,324.	
3ai	26	Permanently restricted			
Net Assets or Fund Balances	20	Foundations that do not follow SFAS 117, check here			
ᆵ		and complete lines 27 through 31.			
P	27	Capital stock, trust principal, or current funds			
ets	28	Paid-in or capital surplus, or land, bldg., and equipment fund			
Ass	29	Retained earnings, accumulated income, endowment, or other funds			
et	30	Total net assets or fund balances	1,556,289.	1,531,324.	
_			1/000/2001		
	31	Total liabilities and net assets/fund balances	1,556,289.	1,531,324.	
_			<u> </u>		
<u>P</u>	art	Analysis of Changes in Net Assets or Fund E	paidlice\$		
1	Total	net assets or fund balances at beginning of year - Part II, column (a), line	30		
		t agree with end-of-year figure reported on prior year's return)		1	1,556,289.
		amount from Part I, line 27a		. 2	-24,965.
		increases not included in line 2 (itemize)		3	0.
4	Add	ines 1, 2, and 3		. 4	1,531,324.
5	Decr	eases not included in line 2 (itemize)		5	0.
6_	Total	net assets or fund balances at end of year (line 4 minus line 5) - Part II, c	olumn (b), line 30	6	1,531,324.

84,720.

Form 990-PF (2010)

6

7

8

599.

87,787.

7 Add lines 5 and 6

See the Part VI instructions.

6 Enter 1% of net investment income (1% of Part I, line 27b)

8 Enter qualifying distributions from Part XII, line 4

If line 8 is equal to or greater than line 7, check the box in Part VI, line 1b, and complete that part using a 1% tax rate.

	CLIFTON AND CLARA WARD FOUNDATION		191			Page 4
~.w.	ift VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or	4948	- see	instru	ctio	ns)
1a	Exempt operating foundations described in section 4940(d)(2), check here 🕨 📖 and enter "N/A" on line 1.	15,	100	#2.379	હ્યું જે?	/ //// * N
	Date of ruling or determination letter: (attach copy of letter if necessary-see instructions)	- 22	· **, \$*	, ,	*/	757
b	Domestic foundations that meet the section 4940(e) requirements in Part V, check here 🕨 🔛 and enter 1%	1	ļ		<u>1,1</u>	99.
	of Part I, line 27b	\$2.5°	, ,	, .	125	272KP
C	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).				, -	27/6
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)	2				0.
3	Add lines 1 and 2	3			1,1	99.
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)	4				0.
5	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-	5			1,1	99.
6	Credits/Payments:	1			,	S 200
а	2010 estimated tax payments and 2009 overpayment credited to 2010 6a 53	. N . F		<u>.</u> /		```
	Exempt foreign organizations - tax withheld at source	Ţ, ,.	24 X X X		14, 12	` , <i>,</i>
C	Tax paid with application for extension of time to file (Form 8868)	7 ,		; <u>``</u> ;	300	A
d	Backup withholding erroneously withheld 6d	٠,,			12 VIII	., .
	Total credits and payments. Add lines 6a through 6d	7 7	, "	4" . 4".	*** "	53.
8	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached	8				5.
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed	9			1.1	51.
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid	10				
11	Enter the amount of line 10 to be: Credited to 2011 estimated tax	11	[
	irt;VII-A Statements Regarding Activities					
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or interver	e in		1	Yes	No
	any political campaign?			1a		X
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for definition)?	•	•	1b		X
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials publish	ed or		- ,,,,	, 1	1,7
	distributed by the foundation in connection with the activities.			10.7	`	4 (
C	Did the foundation file Form 1120-POL for this year?			1c		X
	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:			1855	~	13.50
	(1) On the foundation. ▶ \$ 0 . (2) On foundation managers. ▶ \$			1. A. A.	, ^ 5	1.
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation			19 may 1		
	managers. ► \$ 0.				(), E	(3)
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?			2	_	X
	If "Yes," attach a detailed description of the activities.	-		53		850 g
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation,	or		1: .	4.	** > \
	bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes			3		_X_
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?			4a		X
þ	If "Yes," has it filed a tax return on Form 990-T for this year?	N	/A	4b		
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?			5		Х
	If "Yes," attach the statement required by General Instruction T.			37. 3	` `	17
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:			1	,	35.0
	● By language in the governing instrument, or					1
	• By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the sta	te law			,	3
	remain in the governing instrument?			6	X	
7	Did the foundation have at least \$5,000 in assets at any time during the year?			7	X	
	If "Yes," complete Part II, col (c), and Part XV.			17 (8	4	V 37
8a	Enter the states to which the foundation reports or with which it is registered (see instructions)					12/2
	TN			+ C	-	1
b	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)			25 %	8 N	199
	of each state as required by General Instruction G? If "No," attach explanation			8b	X	Ĺ
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for ca	lendar		28.	770	2.3.2.
	year 2010 or the taxable year beginning in 2010 (see instructions for Part XIV)? If "Yes," complete Part XIV			9	`	X_
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses			10		X
						

had not been removed from jeopardy before the first day of the tax year beginning in 2010?

Form 990'-PF (2010) CLIFTON AND CLARA WARD F	OUNDATION	Required (contin	58-19176	76 Page 6
 Statements Regarding Activities for Which Is a During the year old the foundation pay or incur any amount to: Carry on propaganda, or otherwise attempt to influence legislation (section 2). Influence the outcome of any specific public election (see section 4955); of any voter registration drive? Provide a grant to an individual for travel, study, or other similar purposes 4. Provide a grant to an organization other than a charitable, etc., organization 509(a)(1), (2), or (3), or section 4940(d)(2)? Provide for any purpose other than religious, charitable, scientific, literary, the prevention of cruelty to children or animals? If any answer is "Yes" to 5a(1)-(5), did any of the transactions fail to qualify units section 53.4945 or in a current notice regarding disaster assistance (see instruorganizations relying on a current notice regarding disaster assistance check in the answer is "Yes" to question 5a(4), does the foundation claim exemption for expenditure responsibility for the grant? 	Form 4720 May Be F n 4945(e))? or to carry on, directly or indirectly or described in section or educational purposes, or to der the exceptions described elections)? here rom the tax because it mainta	Required (contin	es X No	5b
 If "Yes," attach the statement required by Regulations section 53.494. 6a Did the foundation, during the year, receive any funds, directly or indirectly, to a personal benefit contract? b Did the foundation, during the year, pay premiums, directly or indirectly, on a pif "Yes" to 6b, file Form 8870. 7a At any time during the tax year, was the foundation a party to a prohibited tax so lif "Yes," did the foundation receive any proceeds or have any net income attribution. Information About Officers, Directors, Trust Paid Employees, and Contractors 	pay premiums on personal benefit contract? shelter transaction? utable to the transaction?	Ye	es X No N/A	6b X
List all officers, directors, trustees, foundation managers and their	 	(c) Compensation	(d) Contributions to	(e) Expense
(a) Name and address	(b) Title, and average hours per week devoted to position	(If not paid, enter -0-)	(d) Contributions to employee benefit plans and deferred compensation	(e) Expense account, other allowances
SEE STATEMENT 9		0.	0.	0.
	1			
2 Compensation of five highest-paid employees (other than those inc. (a) Name and address of each employee paid more than \$50,000 NONE	luded on line 1). If none, (b) Title, and average hours per week devoted to position	enter "NONE." (c) Compensation	(d) Contributions to employee benefit plans and deferred compensation	(e) Expense account, other allowances
Total number of other employees paid over \$50,000			Form	0 990-PF (2010)

Form 990-PF (2010) CLIFTON AND CLARA WARD FOUNDATION 5	8-1917	676 Page 7
Part VIII Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid Employees, and Contractors (continued)		
3 Five highest-paid independent contractors for professional services. If none, enter "NONE."		
(a) Name and address of each person paid more than \$50,000 (b) Type of service	e	(c) Compensation
NONE		
		
Total number of others receiving over \$50,000 for professional services		0
Part, IX-A Summary of Direct Charitable Activities		
List the foundation's four largest direct charitable activities during the tax year. Include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc.		Expenses
1N/A		
2		
3		
4		
RantilX B Summary of Program-Related Investments		
Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2.		Amount
1 N/A		
2		
1		
All alberts are an arbital in colorate. Car inchested		
All other program-related investments. See instructions.		
3		
Total. Add lines 1 through 3	>	0.
	Forn	n 990-PF (2010)

/P	Minimum Investment Return (All domestic foundations must complete this part. Foreign four	ndations,	see instructions.)
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes:	(viewi)	
а	Average monthly fair market value of securities	1a	1,745,480.
b	Average of monthly cash balances	1b	36,560.
C	Fair market value of all other assets	1c	
d	Total (add lines 1a, b, and c)	1d	1,782,040.
е	Reduction claimed for blockage or other factors reported on lines 1a and	~~~ ~~	
	1c (attach detailed explanation) 1e 0.		
2	Acquisition indebtedness applicable to line 1 assets	2	0.
3	Subtract line 2 from line 1d	3	1,782,040.
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions)	4	26,731.
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	1,755,309.
6	Minimum investment return. Enter 5% of line 5	6	87,765.
P	art XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations are foreign organizations check here ► and do not complete this part.)	nd certain	
1	Minimum investment return from Part X, line 6	1	87,765.
2a	Tax on investment income for 2010 from Part VI, line 5	3 3/5"	5.7
b	Income tax for 2010. (This does not include the tax from Part VI.) 2b		
C	Add lines 2a and 2b	2c	1,199.
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	86,566.
4	Recoveries of amounts treated as qualifying distributions	4	0.
5	Add lines 3 and 4	5	86,566.
6	Deduction from distributable amount (see instructions)	6	0.
7	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1	7	86,566.
P	Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:	*%	
а	Expenses, contributions, gifts, etc total from Part I, column (d), line 26	1a	84,720.
b	Program-related investments - total from Part IX-B	1b	0.
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:		
a	Surtability test (prior IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	84,720.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		
	income. Enter 1% of Part I, line 27b	_5	0.
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	84,720.
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation of	jualifies for	
	4940(e) reduction of tax in those years.		

Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b) Years prior to 2009	(c) 2009	(d) 2010
1 Distributable amount for 2010 from Part XI, line 7			3 - 1	86,566.
2 Undistributed income, if any, as of the end of 2010	· · · · · · · · · · · · · · · · · · ·	A 1. N		
a Enter amount for 2009 only		• •	0.	
b Total for prior years:		0.		
3 Excess distributions carryover, if any, to 2010:				
a From 2005		,	, , ,	
b From 2006	,			
c From 2007 4,689.				
dFrom 2008 18,215.	*		3.84.55	
e From 2009 6,775.				
f Total of lines 3a through e	29,679.		,	
4 Qualifying distributions for 2010 from	25 7 G 7 G 7	, ,	, ~,	
Part XII, line 4: ► \$ 84,720.		***		" " " " " " " " " " " " " " " " " " "
a Applied to 2009, but not more than line 2a			0.	
b Applied to undistributed income of prior			, , , , , ,	\ ^ ^ 3
years (Election required - see instructions)	, ,	0.		
c Treated as distributions out of corpus		, , ,		
(Election required - see instructions)	0.	•		
d Applied to 2010 distributable amount		, ,	355	84,720.
e Remaining amount distributed out of corpus	0.	, ,		*
5 Excess distributions carryover applied to 2010	1,846.	* 1. 3. 3. · · · ·		1,846.
(If an amount appears in column (d), the same amount must be shown in column (a))	٧, , , ,		1 1 1 1 1 1 1 1 1	200
6 Enter the net total of each column as				
indicated below:			/	
2 Corpus Add lines 3f, 4c, and 4e Subtract line 5	27,833.	• « • •	1 / m + 4 / 2 / 1 / 1	(1) 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
b Prior years' undistributed income. Subtract			4.70 C - 1.70 C	Y 13 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
line 4b from line 2b	, , ,	0.		
c Enter the amount of prior years'				
undistributed income for which a notice of	3.3		, · · · · · · · · · · · · · · · · · · ·	
deficiency has been issued, or on which the section 4942(a) tax has been previously				
assessed	, , , , ,	0.	37 8 3000	1,8-1,3
d Subtract line 6c from line 6b. Taxable				1. 18 15 x 15 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5
amount - see instructions	·/	0.	S () () () () () ()	A 30 3 1/2 1 1 3
e Undistributed income for 2009. Subtract line	476.7			[[[[[[[[[[[[[[[[[[[[
4a from line 2a. Taxable amount - see instr.		` , [*] ,	0.	\$5.66 \$5.66
f Undistributed income for 2010. Subtract		,		
lines 4d and 5 from line 1. This amount must		· ,		
be distributed in 2011			· · · · · · · · · · · · · · · · · · ·	0.
7 Amounts treated as distributions out of		1 1 2 2 2 4 7		1 6
corpus to satisfy requirements imposed by	_		San San Care Contraction	
section 170(b)(1)(F) or 4942(g)(3)	0.	, , ,	* * * * * * * * * * * * * * * * * * * *	5 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
8 Excess distributions carryover from 2005		M () \		
not applied on line 5 or line 7	0.	Wind the Kingt	33. "	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
9 Excess distributions carryover to 2011.				The state of the s
Subtract lines 7 and 8 from line 6a	27,833.	K " / 40 4 4 1 / 4	1 8 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
10 Analysis of line 9:	÷ '	, , , , , , , , , , , , , , , , , , , ,	1264263333	Comment of the state of the sta
a Excess from 2006	() - (() x x		MARKET ELL	Land of the
b Excess from 2007 2,843.	, , , , , , , , , , , , , , , , , , , ,	· , , , , , , , , , , , , , , , , , , ,		\$ 180 \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \
c Excess from 2008 18, 215.	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Section Section 2		1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1
d Excess from 2009 6,775.			3 15 / 4 / W. J.	$ \hat{C}_{i,j}\rangle\rangle\rangle\rangle\langle\hat{C}_{i,j}\rangle\rangle$
e Excess from 2010	L . ^`	(4)		<u> </u>

Form 990-PF (2010) CLIFTON	AND CLARA	WARD FOUNDA	TION	58-193	L 7 6 7 6 Page 10
Rart XIV Private Operating F			A, question 9)	N/A	
1 a If the foundation has received a ruling o	r determination letter that	t it is a private operating	i		
foundation, and the ruling is effective fo			▶		
b Check box to indicate whether the found	dation is a private operation	ng foundation described i	n section	4942(j)(3) or 494	12(<u>j)(</u> 5)
2 a Enter the lesser of the adjusted net	Tax year		Prior 3 years		
income from Part I or the minimum	(a) 2010	(b) 2009	(c) 2008	(d) 2007	(e) Total
investment return from Part X for					·
each year listed					
b 85% of line 2a					
c Qualifying distributions from Part XII,	-				· · · · · · · · · · · · · · · · · · ·
line 4 for each year listed					
d Amounts included in line 2c not					
used directly for active conduct of					
exempt activities					
e Qualifying distributions made directly	·			-	
for active conduct of exempt activities.					
Subtract line 2d from line 2c					
3 Complete 3a, b, or c for the					-
alternative test relied upon:					
a "Assets" alternative test - enter: (1) Value of all assets					
(2) Value of assets qualifying				-	
under section 4942(j)(3)(B)(i)		:			
b "Endowment" alternative test - enter 2/3 of minimum investment return					
shown in Part X, line 6 for each year					
listed .					
c "Support" alternative test - enter:					
(1) Total support other than gross					
investment income (interest, dividends, rents, payments on					
securities loans (section					
512(a)(5)), or royalties)					
(2) Support from general public					
and 5 or more exempt organizations as provided in	•				
section 4942(j)(3)(B)(iii)					
(3) Largest amount of support from					
an exempt organization		_			
(4) Gross investment income					
Part XV Supplementary Info	rmation (Comple	te this part only i	f the foundatior	n had \$5,000 or mo	re in assets
at any time during t		nstructions.)			
1 Information Regarding Foundatio	-				_
a List any managers of the foundation wh year (but only if they have contributed in	o have contributed more to nore than \$5,000). (See si	than 2% of the total contr ection 507(d)(2).)	ibutions received by the	toundation before the close	e of any tax
CLARA T. WARD					
b List any managers of the foundation wh	o own 10% or more of the	e stock of a corporation (or an equally large porti	on of the ownership of a pai	tnership or
other entity) of which the foundation has			or an equally large per a	on or and owner, only or a par	and only of
NONE					
2 Information Regarding Contributi					
Check here 🕨 🗓 if the foundation o	nly makes contributions t	o preselected charitable o	organizations and does i	not accept unsolicited reque	sts for funds. If
the foundation makes gifts, grants, etc.	(see instructions) to indiv	iduals or organizations ur	nder other conditions, c	omplete items 2a, b, c, and	J
a The name, address, and telephone num	ber of the person to whom	n applications should be a	addressed:		
b The form in which applications should b	e submitted and informat	ion and materials they sh	ould include:	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
c Any submission deadlines:					
d Any restrictions or limitations on awards	s, such as by geographica	ıl areas, charıtable fıelds, l	kınds of institutions, or	other factors:	

Part XV Supplementary Information (continued)

3 Grants and Contributions Paid During the Y	ear or Approved for Future	Payment	<u> </u>	
Recipient Name and address (home or business)	If recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of	Purpose of grant or contribution	Amount
	or substantial contributor	recipient		
a Paid during the year				
			-	
]		
1				
SEE STATEMENT 10				
Total			▶ 3a	75,000.
b Approved for future payment				
NONE				
Total	<u> </u>	L	▶ 3b	0.

023621 12-07-10

nter gross amounts unless otherwise indicated.		business income		y section 512, 513, or 514	(e)
	(a) Business	(b) Amount	(C) Exclu- sion code	(d) Amount	Related or exempt function income
1 Program service revenue:	code		code	741104111	1011011011111011110
a			 		
b	— -				
<u> </u>				-	
d					
e					
g Fees and contracts from government agencies	_			-	
2 Membership dues and assessments					
Interest on savings and temporary cash		- · · ·			
investments					
Dividends and interest from securities			14	38,305.	
Net rental income or (loss) from real estate:	18.3		· ·		S
a Debt-financed property			<u> </u>	.5./	<u> </u>
b Not debt-financed property					
6 Net rental income or (loss) from personal					
property					
7 Other investment income			14	33.	
Gain or (loss) from sales of assets other					
than inventory			18	38,821.	
Net income or (loss) from special events		-			
Gross profit or (loss) from sales of inventory					
Other revenue:					
a					
b	1 1				
c	1				
d	1 .				
е					
Subtotal. Add columns (b), (d), and (e)	1870 028		0.	77,159.	0
3 Total. Add line 12, columns (b), (d), and (e)				13	77,159
See worksheet in line 13 instructions to verify calculations	s.)				
Rart XVI≅B Relationship of Activitie	es to the Acco	mplishment of	Exempt P	urposes	
-					
Line No. Explain below how each activity for which				I importantly to the accom	plishment of
the foundation's exempt purposes (other t	han by providing fun-	ds for such purposes	5).		
N/A					
					
					
			·		
	· · · · · · · · · · · · · · · · · · ·				· · · · · · · · · · · · · · · · · · ·
		·			
					
					<u> </u>
					
					
				, <u></u>	

					· -

Pär	ťXVII	Information Re Exempt Organ		nsfers To a	and Trans	actions a	and Re	lationships With Non	charitable	е	
1 [Did the or	ganization directly or indi		of the following	ng with any oth	er organizatı	on descrit	bed in section 501(c) of		Yes	No
		(other than section 501(c				_		• • •	1, 1,	77.3	3 × ×
		from the reporting found				Ū			- 13° (3		n de pro- position
	1) Cash	•		, ,	•				1a(1)		X
(2) Other	assets							1a(2)		Х
	•	sactions:		•				• •	20.00		crassia
(1) Sales	of assets to a noncharita	ible exempt organiza	ation					1b(1)		X
		hases of assets from a no							1b(2)		Х
(3) Renta	al of facilities, equipment,	or other assets						1b(3)		Х
(4) Reim	bursement arrangements	;		_				1b(4)		X
(5) Loan:	s or loan guarantees					-		1b(5)		X
(6) Perfo	rmance of services or me	embership or fundra	ısıng solıcıtatıc	ons			-	1b(6)		X
c S	Sharing o	f facilities, equipment, ma	uling lists, other asse	ets, or paid em	nployees				1c		X
d !	f the ansv	wer to any of the above is	"Yes," complete the	following sche	edule. Column	(b) should al	ways sho	w the fair market value of the go	ods, other ass	sets,	
						ır market valı	ue in any 1	transaction or sharing arrangem	ent, show in		
		1) the value of the goods,				 -					
(a)Lin	e no	(b) Amount involved	(c) Name o		e exempt organ	iization	(d)	Description of transfers, transactions	, and sharing ar	rangeme	nts
	- 		 	N/A							
							-				
			 				+				
		···	 -								
	-	- · · · · · · · · · · · · · · · · · · ·									
		. =.									
	_										
											
		****									-
											
ı	n'section	ndation directly or indirec 501(c) of the Code (othe amplete the following sch	r than section 501(c			kempt organi	izations d	escribed	Yes	X] No
		(a) Name of org			(b) Type of c	rganization		(c) Description of rela	tionship		
		N/A									
				,							
	and	er penalties of perjury, I declare complete Declaration of prepa						ts, and to the best of my knowledge a is any knowledge	nd belief, it is tr	ue, corre	ct,
Sig	n į	100	1 10 1	or 114401447715 21	1		proparor no		,		
Hei	e	Clara	J. Ward			10-20-	-//	. PRESIDEN			
		Signature of officer or tru		Т		Date	1_	Title			
		Print/Type preparer's na	ame	Preparer's s	ignature	,	Date		TIN		
		+/ 1	11. 1	$ /\rangle$. 1	/ , ,		self- employed	P005	dal	11
Pai		Judith A	HICKS	(fudit	to CR XX	cke	10-K		r005	406	11
	parer Only	Firm's name ► CHA	MBLISS, E	BAHNER	& STOP	HEL, P	.c.	Firm's EIN			
	,	Firm's address ▶ 10	00 TAT.T.AN	ת.ודווא נ	TNG	· · · · · · · · · · · · · · · · · · ·					
		1	ATTANOOGA			500		Phone no. (4	23)756	-30	00

FORM 990-PF DIVIDENT	DS AND	INTER	EST	FROM	SECT	JRITIES	STATEMENT	1
SOURCE		GROSS	AMO	TNUC		PITAL GAINS DIVIDENDS	COLUMN (A	.)
FIRST TENNESSEE BANK - NOMINI DIVIDENDS MORGAN STANLEY SMITH BARNEY			24	,308.		6,485.	17,8	23.
DIVIDENDS SENTINEL COMMON STOCK FUNDS				,848. ,634.		0. 0.	18,8 1,6	
TOTAL TO FM 990-PF, PART I, I	LN 4 =		44	790.		6,485.	38,3	05.
FORM 990-PF	O'	THER I	NCOI	4E			STATEMENT	2
DESCRIPTION		:	RE	(A) /ENUE BOOK:	S	(B) NET INVEST- MENT INCOME		
MISCELLANEOUS INCOME				<u> </u>	33.	33	•	
TOTAL TO FORM 990-PF, PART I	, LINE	11			33.	33	•	
FORM 990-PF		LEGAL	FE	ES			STATEMENT	3
DESCRIPTION	EXPE	A) NSES BOOKS		(B) INVI IN IN	EST-	(C) ADJUSTED NET INCOM		
CHAMBLISS, BAHNER & STOPHEL, P.C.	:	8,750.		-	0	•	8,7	50.
TO FM 990-PF, PG 1, LN 16A		8,750.		_	0	•	8,7	50.

FORM 990-PF (OTHER PROFES	SIONAL FEES	STATEMENT 4		
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES	
MORGAN STANLEY SMITH BARNEY FIRST TENNESSEE BANK	12,272. 4,828.			0.	
TO FORM 990-PF, PG 1, LN 16C	17,100.	17,100.		0.	
FORM 990-PF	TAX	ES	STATEMENT 5		
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES	
FEDERAL EXCISE TAX FOREIGN TAX WITHHELD ON DIVIDENDS	179. 125.	0.		0.	
TO FORM 990-PF, PG 1, LN 18	304.	125.		0.	
FORM 990-PF	OTHER EXPENSES		STATEMENT 6		
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES	
STATE ANNUAL REPORT	20.	0.		20.	
TO FORM 990-PF, PG 1, LN 23	20.	0.		20.	

FORM 990-PF CO	ORPORATE STOCK		STATEMENT	7	
DESCRIPTION		BOOK VALUE	FAIR MARKET	r	
CORPORATE STOCK - SCHEDULE ATTACH	ED	758,511.	820,19	€0.	
TOTAL TO FORM 990-PF, PART II, LI	NE 10B	758,511.		820,190.	
FORM 990-PF OT	HER INVESTMENTS		STATEMENT	8	
DESCRIPTION	VALUATION METHOD	BOOK VALUE	FAIR MARKET	ŗ	
		540 564			
MUTUAL FUNDS - SCHEDULE ATTACHED UNSETTLED SALES/PURCHASES	COST COST	740,764. 1,290.	732,08 1,29		

FORM 990-PF PART VIII - LIST TRUSTEES AND	OF OFFICERS, D	STATEMENT 9		
NAME AND ADDRESS	TITLE AND AVRG HRS/WK		EMPLOYEE BEN PLAN CONTRIB	EXPENSE
CLARA T. WARD 7 NORTH LYNNCREST DRIVE CHATTANOOGA, TN 37411	PRESIDENT & TR	USTEE 0.	0.	0.
GLENN C. STOPHEL CHAMBLISS, BAHNER & STOPHEL, 1000 TALLAN BLDG. CHATTANOOGA, TN 37402	SEC-TREASURER,	TRUSTEE 0.	0.	0.
CARL K. WARD 1535 OAKVIEW HEIGHTS KENOVA, WV 25530	TRUSTEE 0.10	0.	0.	0.
RAY THOMPSON 8167 SUGARBUSH DRIVE SPRING HILL, FL 34606	TRUSTEE 0.10	0.	0.	0.
MARK D. YATES 8735 CRESTBROOK CIRCLE CHATTANOOGA, TN 37421	TRUSTEE 0.25	0.	0.	0.
B.H. YERBEY, JR. 1066 CONSTITUTION DRIVE CHATTANOOGA, TN 37405	TRUSTEE 0.10	0.	0.	0.
TOTALS INCLUDED ON 990-PF, PAGE 6,	PART VIII	0.	0.	0.

FORM 990-PF

STATEMENT 10

RECIPIENT NAME AND ADDRESS	RECIPIENT RELATIONSHIP AND PURPOSE OF GRANT		AMOUNT
ANKERBERG THEOLOGICAL RESEARCH INSTITUTE P.O. BOX 8977 CHATTANOOGA, TN 374140977	NONE OPERATING FUNDS	501(C)(3) ORGANIZATI	5,000.
BAPTIST WORLD ALLIANCE 405 N. WASHINGTON STREET FALLS CHURCH, VA 22046	NONE OPERATING FUNDS	PUBLIC CHARITY	5,000.
BETHEL BIBLE VILLAGE 3001 HAMILL ROAD HIXSON, TN 37343	NONE OPERATING FUNDS	SCHOOL	10,000.
BRYAN COLLEGE 411 BRYAN DRIVE DAYTON, TN 373216269	NONE OPERATING FUNDS	COLLEGE	10,000.
CARSON-NEWMAN COLLEGE RUSSELL AVENUE JEFFERSON CITY, TN 37760	NONE OPERATING FUNDS	COLLEGE	10,000.
HAGGAI INSTITUTE FOR ADVANCED LEADERSHIP TRAINING P.O. BOX 13 ATLANTA, GA 303709901	NONE OPERATING FUNDS	PUBLIC CHARITY	25,000.
UNIVERSITY OF TENNESSEE AT CHATTANOOGA 615 MCCALLIE AVENUE CHATTANOOGA, TN 37403	NONE OPERATING FUNDS	COLLEGE	10,000.
TOTAL TO FORM 990-PF, PART XV, L	INE 3A		75,000.

GRANTS AND CONTRIBUTIONS

CLIFTON AND CLARA WARD FOUNDATION

PORTFOLIO VALUE REPORT

FISCAL YEAR ENDED SEPTEMBER 30, 2011

						Unrealized	
	Shares	Price	Fair Market		Cost	Gain or	
Security	or Face	Per Share	Value		Basis	(Loss)	
Mutual Funds:							
Consumer Staples Select SPDR	150	29.660	\$ 4,449.00	\$	3,233.61	\$ 1,215.39	,
Financial Select Sector SPDR	465	11.8100	5,491.65	Ψ	5,958.55	(466.90	
Health Care Select Sector SPDR	120	31.730	3,807.60		3,191.69	615 91	
Ishares MSCI EAFE Index Fund	720	47.780	34,401.60		31,090.24	3,311.36	
Pimco Low Duration Fund	5,041.036	10.280	51,821.85		52,389.68	(567.83	
Pimco Total Return Fund	9,856.723	10.790	106,354.04		109,295.95	(2,941.91	
Powershares QQQ Trust	200	52.490	10,498.00		11,504.00	(1,006.00	
Sentinel Common Stock Fund	6,073.308	28.270	171,692.42		193,485.38	(21,792.96	
SPDR DJ Wilshire Total Market	830	84.180	69,869.40		52,945.70	16,923.70	-
SPDR DJIA Trust	400	108.930	43,572.00		43,848.00	(276 00	
Standard & Poors Deposit Receipt	450	113.150	50,917.50		57,730.50	(6,813.00	
T. Rowe Price Blue Chip Growth	716.573	35.120	25,166.04		23,287.89	1,878.15	
Technology Select Sector SPDR	200	23.600	4,720.00		3,367.54	1,352.46	
Vanguard Intermediate Term Bond Index Fd	4,220.630	11.830	49,930.05		47,039.34	2,890.71	
Vanguard Mid-Cap Growth Fund	1,537.692	17.340	26,663.58		25,087.22	1,576.36	
Vanguard Short-Term Bond Fund	12.582	10.660	134.12		135.65	(1.53	
Vanguard Short-Term Investment Grade Bd	4,865.253	10.660	51,863.60		52,075.53	(211.93	•
Victory Established Value Fund	912.996	22.710	20,734.14		25,098.01	(4,363.87	
violoty Established value i und	312.330	22.710	20,734.14		25,090.01	(4,303.07	,
Total Mutual Funds			732,086.59		740,764.48	(8,677.89))
				_	1 10,70 1710	(5)011100	
Corporate Stocks:							
AT&T, Inc.	390	28.52	11,122.80		9,983.58	1,139.22	
3M Company	110	71.79	7,896.90		8,487.32	(590.42)
Abbott Laboratories	485	51.14	24,802.90		15,232.27	9,570.63)
Allied World Assurance Company	145	53.71	7,787.95		6,228.66	1,559.29	i
AllState Corporation	300	23.69	7,107.00		8,636.19	(1,529.19)
Annally Capital Management, Inc.	280	16.63	4,656.40		5,050.86	(394.46)
Apache Corporation	25	80.24	2,006.00		3,020.12	(1,014.12)
Applied Materials, Inc. Delaware	975	10.36	10,096.13		15,147.89	(5,051.77)
Automatic Data Processing	140	47.15	6,601.00		3,601.01	2,999.99	ĺ
Baker Hughes, Inc.	110	46.15	5,076.50		5,828.32	(751.82)
Berkshire Hathaway, Inc. Class B	135	71.04	9,590.40		7,333.34	2,257.06	ı
BHP Billiton LTD Sponsored ADR	55	66.44	3,654.20		3,699.66	(45.46)
Blackrock, Inc.	30	148.01	4,440.30		4,988.28	(547.98)
Boeing Company	150	60.51	9,076.50		9,883.32	(806.82)
Bristol Myers Squibb Company	200	31.38	6,276.00		2,836.28	3,439.72	
Carnival Corporation	155	30.30	4,696.50		4,202.32	494.18	
Celanese Corporation, Series A	65	32.53	2,114.45		3,147.08	(1,032.63)
ChevronTexaco	154	92.59	14,258.86		3,197.50	11,061.36	,
Chubb Corporation	220	59.99	13,197.80		8,692.16	4,505.64	
Cisco Systems, Inc.	1,165	15.50	18,057.50		20,563.61	(2,506.11)
Citigroup, Inc.	65	25.62	1,664.98		2,931.61	(1,266.64	
Comcast Corporation	422	20.92	8,828.24		7,327.74	1,500.50	
ConocoPhillips	145	63.32	9,181.40		6,893.93	2,287.47	
CSX Corporation	600	18.67	11,202.00		3,819.25	7,382.75	
Deere & Company	125	64.57	8,071.25		6,832.46	1,238.79	
Devon Energy Corporation New	120	55.44	6,652.80		7,580.91	(928.11	
						•	

CLIFTON AND CLARA WARD FOUNDATION

PORTFOLIO VALUE REPORT

FISCAL YEAR ENDED SEPTEMBER 30, 2011

	Charas	Deigo	Cain Mantrat	Coot	Unrealized
Security	Shares or Face	Price Per Share	Fair Market Value	Cost Basis	Gain or (Loss)
•	105	40.00	-	0.004.00	, ,
Dover Corporation	125	46.60	5,825.00	6,031.22	(206.22)
Duke Energy Corporation, New	440	19.99	8,795.60	7,385.12	1,410.48
E I Du Pont De Nemours & Company	170	39.97	6,794.90	7,221.88	(426.98)
E M C Corp Massachusetts	260	20.99	5,457.40	3,672.00	1,785.40
Eaton Corporation	70	35.50	2,485.00	3,313.88	(828.88)
Ebay, Inc.	460	29.49	13,565.40	13,023.01	542.39
Emcor Group, Inc.	45	20.33	914.85	1,017.00	(102.15)
Emerson Electric Company	185	41.31	7,642.35	5,946.95	1,695.40
Ericsson L M Tel Company Class B	785	9.55	7,496.75	7,784.47	(287.72)
Exxon Mobil Corporation	165	72.63	11,983.95	6,993.09	4,990.86
First Republic Bank	80	23.16	1,852.80	2,509.06	(656.26)
Fluor Corporation DE	85	46.55	3,956.75	3,970.42	(13.67)
Forest City Enterprises Inc.	170	10.66	1,812.20	4,805.14	(2,992.94)
Franklin Resources, Inc.	60	95.64	5,738.40	4,060.23	1,678.17
Gap, Inc. Delaware	240	16.24	3,897.60	4,425.32	(527.72)
General Electric	380	15.22	5,783.60	12,474.24	(6,690.64)
General Mills, Inc.	260	38.49	10,007.40	6,265.97	3,741.43
Glaxosmithkline PLC Sponsored ADR	105	41.29	4,335.45	4,412.16	(76.71)
Google, Inc.	10	515.04	5,150.40	5,406.03	(255.63)
Greenhill & Company, Inc.	.50	28.59	1,429.50	2,477.36	(1,047.86)
Halliburton Company Holdings Company	155	30.52	4,730.60	4,357.17	373.43
Hess Corporation	180	52.46	9,442.80	9,663.65	(220.85)
Home Depot, Inc.	275	32.87	9,039.25	8,541.80	497.45
Honeywell International, Inc.	230	43.91	10,099.30	5,938.71	4,160.59
IBM	160	174.87	27,979.20	16,974.40	11,004.80
Jacobs Engineering Group, Inc.	60	32.29	1,937.40	2,594.77	(657.37)
Johnson & Johnson	360	63.69	22,928.40	19,681.09	3,247.31
Jones Lang Lasalle, Inc.	96	51.81	4,973.76	3,244.30	1,729.46
JP Morgan Chase & Company	915	30.12	27,559.80	30,412.61	(2,852.81)
KeyCorp	735	5.93	4,358.55	4,186.18	172.37
Kimberly Clark Corporation	115	71.01	8,166.15	7,478.33	687.82
KLA-Tencor Corporation	80	38.28	3,062.40	3,169.60	(107.20)
Macy's, Inc.	200	26.32	5,264.00	2,095.00	3,169.00
Mattel, Inc. DE	240	25.89	6,213.60	5,024.65	1,188.95
McDonalds Corporation	200	87.82	17,564.00	2,897.50	14,666.50
Merck & Company, Inc.	335	32.70	10,954.50	11,660.64	(706.14)
Microsoft Corporation	1,495	24.89	37,210.55	42,279.02	(5,068.47)
Monsanto Company	130	60.04	7,805.20	8,941.82	(1,136.62)
Morgan Stanley Dean Witter Company	485	13.51	6,552.35	14,191.39	(7,639.04)
Newfield Exploration Company	70	39.69	2,778.30	1,648.87	1,129.43
Noble Energy, Inc.	65	70.80	4,602.00	3,967.64	634.36
Northrop Grumman Corporation	155	52.17	8,086.35	6,284.69	1,801.66
Novartis AG ADR	210	55.77	11,711.70	10,439.86	1,271.84
Nucor Corporation	125	31.64	3,955.00	5,538.01	(1,583.01)
Oracle Corporation	80	28.74	2,299.20	2,565.90	(266.70)
Oshkosh Truck Company	170	15.74	2,675.80	5,821.30	(3,145.50)
Peeblebrook Hotel Trust	180	15.65	2,817.00	3,095.41	(278.41)
Pepsico	155	61.90	9,594.50	7,920.19	1,674.31
Pfizer, Inc.	720	17.68	12,729.60	19,480.83	(6,751.23)
Plantronics, Inc. New	35	28.45	995.75	1,151.72	(155.97)

19036_00/0001/JAH-1169946_1

CLIFTON AND CLARA WARD FOUNDATION

PORTFOLIO VALUE REPORT

FISCAL YEAR ENDED SEPTEMBER 30, 2011

Security	Shares or Face	Price Per Share	Fair Market Value	Cost Basis	Unrealized Gain or (Loss)
PPG Industries	150	70.66	10,599.00	8,339.08	2,259.92
Procter & Gamble Company	140	63.18	8,845.20	8,107.11	738.09
Raytheon Company	175	40.87	7,152.25	5,824.89	1,327.36
Safeway, Inc. New	595	16.63	9,894.85	11,754.91	(1,860.06)
Schlumberger LTD	210	59.73	12,543.30	8,982.95	3,560.35
Southwest Energy Company DEL	90	33.33	2,999.70	3,345.10	(345.40)
Spectra Energy Corporation	270	24.53	6,623.10	3,948.23	2,674.87
Staples, Inc.	200	13.30	2,660.00	4,102.19	(1,442.19)
Symantec Corporation	260	16.30	4,238.00	4,916.63	(678.63)
Target Corporation	100	49.04	4,904.00	5,294.00	(390.00)
Texas Instruments, Inc.	460	26.65	12,259.00	13,128.52	(869.52)
Travelers Companies, Inc.	265	48.73	12,913.45	11,193.99	1,719.46
Unilever PLC Sponsored ADR	320	['] 31.19	9,980.80	7,470.63	2,510.17
United Parcel Service Class B	110	63.15	6,946.50	8,150.62	(1,204.12)
United States Steel Corporation	215	22.01	4,732.15	10,806.93	(6,074.78)
United Technologies Corporation	100	70.36	7,036.00	4,979.50	2,056.50
US Bancorp Del	420	23.54	9,886.80	11,100.69	(1,213.89)
Verizon Communications	100	36.80	3,680.00	2,281.77	1,398.23
Visa, Inc Class A	60	85.72	5,143.20	4,459.04	684.16
Vodafone Group PLC Spons ADR	452	25.66	11,598.32	10,366.25	1,232.07
Wal-Mart Stores, Inc.	120	51.90	6,228.00	6,003.08	224.92
Walt Disney Company	490	30.16	14,778.40	10,106.57	4,671.83
Waste Management Inc Delaware	350	32.56	11,396.00	10,697.00	699.00
Wells Fargo & Company New	180	24.12	4,341.60	4,983.16	(641.56)
Weyerhaeuser Company	494	15.55	7,681.70	8,581.28	(899.58)
Total Corporate Stocks			820,190.38	758,511.39	61,678.99
TOTAL SECURITIES			<u>\$1,552,276.97</u>	\$ 1,499,275.87	\$ 53,001.10